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English Language \\\\\\\\
91. Identify the correct choice.
You needn't take your umbrella, ............
is not raining.
(A) it . (B) there
(C) this (D) outside
Fill in the blanks with correct article.
Teachers are like .......... .. weather, one
minute they're good, other
they're bad. .
(A) a,a. (B) the, a
(C) the, the - = (D) the,an -
Find out the correct adverb in the follow-
ing sentence. ;
The policeman didn't run fast enough
to catch the thief.
(A) run
(C) catch-
Select the correct helping verb. - _
He had been working for more than 11
hours. He........... be tired after such hard
work.
(A) must (B) should
(C) has (D) will
Identify the correct’ preposition to
complete the sentence,
The police car chased the robbers ..........
the streets.
(A) in (B) into
(C) across (D) through
Identify the meaning of the given Idiom/
Phrase. ' '
A fool's paradise
(A) Akingdom of fools
(B) A place where fools live
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93.

(B) -enough
: (D) theif
94.

95.

96.
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(C) A state of happiness based on false
hope
(D) Adream house

97. Give the plural of the given word.
Analysis
(A) Analysises (B) Analysus
(C) Analysisess (D) Analyses
98. Form an adjective from the given word.
Attract v
(A) Attraction  (B). Attractive
(C) Attracted . (D) Attracting
99, Fill in the blank with the correct conjuction.
: I'll text you ......... I have arrived, in
Toronto.
(A) after (B) when
(C) but. (D) than
100. Identify the incorrect part.

(A) Shewent . (B) .to the market
(C) for buy some vegetables
- (D) No error
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(A) I R
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(A) 1950-51 & (B) 1967-68 3.

(C) 1970-71 3. (D) 1974-75 3.
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1. (B) 2.(D) 3.(A)  4.(D)
5.(D) 6.(C) 7.(D) 8.(D)
9.(C) 10.(A) 11.(A) 12.(B)
13.(C)  14.(C) 15.(B) 16.(B)
17.(D)  18.(A)  19.(A) . 20.(B)
21.(B) 22.(C) 23.(A) 24.(A)
25.(C) - 26.(C) 27.(B) . 28.(D)
29.(D) 30.(D) 31.(D) 32.(C)
33.(C)  34.(A) 35.(B) 36.(A)
37.(C)  38.(C) 39.(D) 40.(A)
41.(A)  42.(A) = 43.(D). 44.(A).
45.(C)  46.(A) 47.(A) 48.(C)
49.(C) 50.(D) 51.(B) 52.(B)
53.(C)  54.(A) 55.(B)  56.(A)
57.(C) 58.(C) 59.(A) 60.(A)
61.(D) 62.(D) 63.(D) 64.(C)
65.(B) 66.(D) 67.(C) 68.(C)
69.(C) 70.(D) 71.(B) 72.(A)
73.(A) 74.(D) 75.(A) 76.(D)
77.(C)  78.(A) 79.(B)  80.(D)
81.(B) 82.(C) 83.(A) 84.(0)
85.(D) 86.(B) 87.(B) 88.(A)
89.(A) 90.(B) 9L.(A) 92.(O)
93.(B) 94.(A) 95.(D) 96.(C)
97.(D)  98.(B)  99.(A) 100.(C)
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105.(C) 106.(B) ' 107.(B) 108.(A)
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